QuESTION 6 (25 ;1AI{KS)
Question 6 (a) (i)

T =Ina" =nlna

T.=Ina, T, =2lna, T, =3Ina
T,-T,=3Inag-2lna=Ina
T,-T,=2lna-Ina=Ina
WL=T,=T,~T,

Therefore, 7, 7, and T, are in arithmetic sequence.,

Question 6 (a) (ii)

T =Ind" =nlna

T,.,=(n+1)Ina

T.,.-T =(m+)Ina-nina
=nlna+Ina-nlna

= Ina = Constant (d)

Therefore, the sequence is arithmetic with common difference o
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FORMULAE AND TABLES BOOK
Indices and logs [page 21]

log, (xy)=log, x+ log, v

X
log,, [;] =log, x— log, v

logu (’\-'-"} = q 10gu X
log,1=0

1
log,, [-1"] =—log, x

=Inaq.
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MARKING SCHEME NOTES

NOTE: When particular values are used in ALL sections give Low Partial Credit at most
each time

Question 6 (a) (i) [Scale 10C (0, 5, 7, 10)]
5. « Only one term correct

7. =+ Either (T,—T,) or (T, = T,) correct

Question 6 (a) (ii) [Scale 5C (0, 3, 4, 5)]
3:  + Uses two consecutive general terms
* Recognition of common difference and no more
4: Shows series arithmetic but does not state common difference

Question 6 (b)

AL AT+ T+ Ty + gy = Sy = 10100 FormuLAt anp TaBLEs Book

T'=Ina,d=Ina, n=100 Sequences and series: Arithmetic series
100 [page 22]

S = 5-[2Ina+99Ina]=10100

50[1011na] =10 100 8 :%[2a+ (n-1)d]

Ina=2

a is the first term

Sa=e d is the common difference

MARKING SCHEME NOTES
NOTE: When particular values are used in ALL sections give Low Partial Credit at most
each time
Question 6 (b) [Scale 5C (0, 3, 4, 5)]
3. » Writes three or more terms in form of n and In @
* Correct AP formula stated
* Correct 7, formula
4.« Correct substitution into formula
* In @ = 2 and does not finish
Nore: accept a = ¢ for full marks

SRR

Question 6 (c)
_—_—_———

T, +Tq "'T|3+"'+T2“

LHS

L+T,+T,+--+T,+100d

I
[}
:
;
e ' :iéu_sm 0[2Ina+9Ina)
S T na na
=Y+ 9lna]+100ma 1 =F2ma+19nal-F]
=511Ina]+100Ina ' —10[21Ina]-5[11Ind]
=155Ina ~210lna-55Ina
: =155Ina
1
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